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Name ______________________________

Short answer questions/problems

Note:  Short answer questions/problems require a sentence or two at most.  In some cases, a single word is sufficient.

1.  Assume your firm is subject to capital rationing and thus uses profitability index to determine which projects to undertake.  If the projects you are considering are generally mutually exclusive, how you decide which if any projects to undertake using this rule?

In questions 2 through 4, assume Gargantuan Industries is considering building a new factory to help it meet growing demand for its products.  For each question, calculate the impact of the given information on the after-tax cash flows two years from today that Gargantuan should use in deciding whether to build the factory.  Note that in a complete analysis of the project, Gargantuan would have to consider all cash flows in all years, however you only have to calculate the impact on cash flows two two years from today given the information in each question.  In all 3 questions, use a “+” to indicate an increase in cash flow and a “-“ to indicate a decrease in cash flow.  In addition, assume in all 3 questions that Gargantuan’s marginal tax rate is 35%.  Note:  you should work each question separately.
2.  It will cost $3,500,000 today to build the new facilities.  The facilities are expected to generate net cash flows for 20 years but will fall into the 7-year depreciation class under the 1986 tax act.  
3.  Gargantuan estimates that if the project is undertaken, it will require an initial (today) investment in net working capital of $450,000.  Net working capital would then jump to $600,000 a year from today; $640,000 two years from today; and $650,000 three years from today.  After this, net working capital would remain at $650,000 until the factory closes 20 years from today.  
4.  If Gargantuan builds the factory, it will need a warehouse to store inventory being prepared to ship to retailers.  It can either rent space in a new warehouse for $34,000 per year or it can use a warehouse it owns but has been renting out for $24,000 per year.  Both warehouse rentals are short-term and can be broken at any time.  
5.  What do we call the process by which shares are issued to existing stockholders?
6.  Does class “A” or class “B” stock usually have inferior voting rights?
7.  Under what conditions might a decision tree help a firm in deciding whether or not to undertake a project?
8.  Assume that Sohnee Corp. uses its weighted average cost of capital as an estimate of the required return on the new projects it undertakes.  What types of projects will Sohnee be most likely to overinvest in?
9.  According to the pecking order theory, what is the preferred source of funding for a firm?
10.  Assume that at the beginning of 2002 your firm’s target EVA is $100 million, that your target EVA bonus is 35% of your base salary of $100,000, and that the leverage factor used in calculating your bonus is $80 million.  What will be the amount of your EVA bonus earned if your firm’s EVA for 2002 ends up being $90 million?
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1.  Due to rapidly increasing demand, Dragon Inc. is in the process of expanding its facilities.  Since these new facilities are simple expansions to meet growing demand, the new facilities are believed to have about the same risk as its existing facilities.  Your boss has asked you to calculate the required return on the new facilities and has only provided you with the following information.  First, he tells you that the firm has 3 million shares outstanding.  Dragon shares have a book value of $3.95 per share but a market value of $28 per share.  The current beta for Dragon stock is 1.2.  He also tells you that Dragon has 60,000 bonds outstanding.  The par value of these bonds is $1000 each but the current market value of these bonds are $905 each.  The yield to maturity on these bonds is 9.5%.  This is a substantial premium on the risk-free rate of 3% but less than the expected return on the market of 10.5%.  Finally, your boss tells you that Dragon’s marginal tax rate is 35%.  What do you tell your boss?

2.  Turns Inc. is considering investing in a new facility that will involve a net outlay today of $100 million.  The facility is expected to produce net cash flows for 20 years which have a present value today of $114 million.  If demand for Turns’ products exceeds demand, the facility can be expanded any time in the next 5 years at a cost of  $20 million.  Once the expansion is undertaken, it is expected to produce cash flows for 18 years.  The expected present value of the cash flows from this expansion is expected to equal $24 million when the expansion if the expansion is undertaken in 5 years.  The present value today of the cash flows from the expansion is $15.5 million.  While the new facility is relatively risky (with a standard deviation of returns of 31%), the expansion is even riskier (with a standard deviation of returns of 43%).  Once the expansion is undertaken, the overall standard deviation of the facility and the expansion is expected to equal 33%.  Finally, the return on Treasury strips depends on maturity as follows (all are APRs assuming continuous compounding).
Maturity (years)
APR

1
1.90

2
2.84

3
3.39

4
3.66

5
4.17

6
4.44

…



17
5.50

18
5.52

19
5.56

20
5.58
What impact does building the facility have on the value of Turns Inc.?  Should Turns undertake the project?

3.  Considering only issues related to potential conflicts of interest in the firm, what characteristics of a firm would lead to it having a higher optimal level of debt in its capital structure than the typical firm?  Explain.
4.  Considering only tax-related issues, what characteristics of a firm would lead to it having a higher optimal level of debt in its capital structure than the typical firm?  Explain.
